Calculators Allowed
1.E 2.D 3.9(f)=tsint+ cos f +2
4.a.left; v(2)<0  b.inc.;a(2)>0
c. dec.; W(2) and a(2) diff. signs  d. 2.507, 3.545

e. 2.842,3.321, 3.734 f. 4.947 g. 7.367

No Calculators
1. C 2.D 3.B 4. C

6. In2 7 %sin(x2 —2x)+C
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Calculus BC -- Chapter I Sample Test (calculators allowed)

4. A particle moves along the x-axis so that its velocity at any time t > 0 is given by
2
v(t) = —(t + 1) sin (52—) It is know that its initial position is x(0) = 4.7

a. Is the particle moving to the left of to the right at time t = 2? Justify your
answer.

My

W[2)2-1728 — w177 bteen
'\/(7/}49

b. Is the velocity of the particle increasing or decreasing at time t = 2? Justify
your answer.

(2) = 1588

1nC. Iofcwgg, al2)70

c. Is the speed of the particle increasing or decreasing at time t = 2? Justify your

answer. P y e i
5’(@[, é}ﬂf'@uff’ 05?; ‘Q!"';;/ \/(2) ot ﬂ/?‘;‘rfﬁ/ ,
sﬁ h5

d. Find the times at which the particle changes directions on the interval 0 < t < 4.
Justify your answer.

\j{f\§’:0

1= 2,507, 3,545
VU} cﬁﬁwj’es J(*;jhj

¢. Find all times orll the interval 0 < ¢ < 4 where the speed 1s equal to 3.
\v(t)] =3
A=7, %4p 2,321, 3731
u ,

/
f. Find x(4). :%{9\” f \/U”ﬂ(z{ - “fﬁ G)L/_?

g. Find the distance traveled by the particke on the interval 0 < t < 4.

i l\/(”{y{j = 7,30/
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Calculus BC — Chapter 1 Sample Test (no calculators)

Show all work for free—response questions.

1. jem"seczxdx— /, ¢ (/J/f e /
0
(A) 0 (B)l C)e-1J
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2. [x"Inxdx = U
(A)xslnx—%x8+6 M
1.8 ~ 1,8 = g
(B)64x Inx X tC
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4. Using the gsubstltutlon u=x“*-3, ffl x(x? — 3)5 dx is equal to which of the following?

(A) 2 f_123 u®du ®) [, Busd @ f_123 u®du
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Calculus BC -- Chapter I Sample Test (no calculators)

5. The position of a particle satisfies the equation s S for 1 >0 with the

dt N+l
initial condition x(O) 4 Find x(12)
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6. Let R be the region in the first quadrant under the graph y = 2x 3
x° +

0<x<+6. 2 e

a) Fmdthe arcaof R. / ./ / j

7. j'(x——l)cos(xz—Zx)dx=z 5 (o - {ZA = ’L?:,ZA /'“*C
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